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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the
correct choice on your answer sheet.

31-
32
33-
34-
35

The brain is one of the most sensitive and complex organs in the body. The brain ...(31)... only about two
percent of the body’s weight, but it receives about 20 percent of the blood that the heart ...(32)... . This
suggests that the brain needs ...(33)... attention and protection than other seemingly important parts of the
body.

The brain’s ability to organize and change itself throughout life is a truly ...(34)... thing. In one study,
the brain activity of people born blind was compared to those with normal eyesight and found that a part of
their brain that is ...(35)... connected to the eyes could coordinate itself with the proccessing of sound in

formation rather than visual perception.

1) puts 2) forms 3) gives 4) follows
1) pumps 2) carries 3) collects 4) clears

1) many 2) most 3) more 4) the most
1) brave 2) kind 3) endangered 4) amazing
1) carefully 2) naturally 3) happily 4) strongly

PART B: Reading Comprehension

Directions: Read the following passage and decide which choice (1), (2), (3) or (4) best fits each space. Then mark the
correct choice on your answer sheet.

36-

When the number of people on the Earth increases, it can be a danger for animals. Today, there are
some endangered animals and birds on the Earth. Some examples are whales, pandas, tigers, Asian
elephants and penguins.

Penguins are astonishing birds. They go on a very long trip every year. Hundreds of penguins get
together and walk more than 100 kilometers. They walk to find a safe place for the mothers to lay eggs.
Fathers take care of the eggs, and mothers walk to the sea to find food for their chicks. Fathers keep the
eggs on their feet because it is too cold on the ice. After 64 days the eggs break, and the chicks come out. The
parents go on a lot of trips to find food for the chicks. When the chicks are 4 months old, the parents leave
them to take care of themselves and they return to the sea.

Which of the following questions can be answered according to the passage?
1) Where do baby penguins go when their parents leave them alone?

2) What do people do that endangers animal species?

3) How long does it take penguins to walk more than 100 kilometers?

4) Why do parents leave their chicks after a while?
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37-

38-

40-

41-

42-

43-

44-

45-

46-

48-

49-

50-

Which of the following is TRUE, according to the passage?

1) Penguins walk to find a safe place to take care of their chicks.

2) Fathers protect the eggs on their feet because it’s too cold on the ice.

3) Penguins are the only amazing birds.

4) Nowadays, we cannot find many endangered animals and birds around us.
The word “astonishing” in paragraph 2 means ... .

1) living 2) dangerous 3) endangered 4) wonderful
What is this passage mainly about?

1) An amazing kind of birds on Earth

2) How Penguins’ chicks come out

3) Endangered animals on Earth

4) Finding a safe place to put eggs

The underlined word “them” in the last sentence refers to ... .

1) parents 2) trips 3) months 4) chicks
(615%) Wi (1) omndit 5
— =
I don’t like watching sports events at all. Surfing the net is .......... . At least that’s what I think.
1) the most interesting of all 2) as interesting as it is
3) more interesting than its 4) more interesting
It was ...... that we decided to go out for a walk. We took a long walk through the park.
1) such day a lovely sunny 2) such a sunny lovely day
3) such a day lovely sunny 4) such a lovely sunny day
I don’t know what happened. Suddenly the .......... of her voice changed into a low one.
1) intonation 2) pronunciation 3) reception 4) conversation
Because of a two-hour delay in airline services, we decided to take a bus to Shiraz .......... .
1) in this way 2) hopefully 3) below 4) instead
A: Why did he come out of the manager’s room with a heavy ........... ?

B: I don’t know what happened in that room.

1) blood 2) wonder 3) heart 4) nature

Remember to ........... your speed before you reach the place where the road turns right and left sharply.

1) move 2) drop 3) save 4) hunt

Because of the brain death, his family decided to ........... his organs to the patients waiting for
transplantation.

1) protect 2) donate 3) divide 4) connect

Over 10 species of wild animals became extinct when the deforestation happened here. The underlined
phrase is closest in meaning to ........... .

1) died out 2) added up 3) took care 4) puton

The famous English footballer - Harry Kane - lives in Cambridge, but his ........... live up north in
Manchester.

1) museums 2) protectors 3) relatives 4) students

Don’t try to prevent things from happening. Of course, you can’t. Just let .......... take its course.

1) plain 2) nature 3) future 4) practice
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